V lllllllllllllll
2.2 MBEMHH
2.2.1 SDS-100/250 £ H
]

E RAEE PR IAG3RERN 2.2.2 M k.
A 2-3: SDS-100/250 &4 H

17(49)



P, |

2.2.2 SDS-100/250 #1#}+8A 40 %

% 2-1: ##HeA 48 & (SDS-100/250)

A% 2 i e R
SDS-100 SDS-250

LR () VWO3000300000 | YW03000300000
2 LR BL35100000421 | BL35100000421
3 4K - -

4 LA BL35100000321 | BL35100000321
5 ADC?2 it i 25 * YR50181100000 | YR50181100000
6 Wik B EE - -

7 R EE EAR - -

8 Eiaik 2 BL35100000521 | BL35250000421
9 LECE BL35100001120 | BL35100001120
10 0.55kW AL YM30055000000 | YM30055000000
11 ok YR10010000200 | YR10010000200
12 bk 2 BL35100500120 | BL35250001620
13 PR AL AR BL35100000021 | BL35250000021
14 EIVE S S BL35101000020 | BL35101000020
15 I ik 2 F AR BL35100700020 | BL35250001720
16 Wik Iy ik YM10600600000 | YM10600600000
17 AN & - -

18 T AR BL35100900620 | BL35250000221
19 AR 8 - -

20 W #5.22 - -

21 A5 - -

22 Aok - -

23 Bt k2 BL35100500020 | BL35250000020
24 25"t N BL35100000920 | BL35250001320
25 2.5"5K IR YW50015000000 | YWS50015000000
26 2.5 3 W BL35100000920 | BL35250001320
27 DAL # YR40001200100 | YR40001200100
28 AT L FAR YW09000000400 | YW09000000400

*R T EARIRGG TR ;MR TR T RN E, A,
EETERMRFAZAT, LHAGR BRAT, ARARKEAFDTE Th—5.

18(49)



2.2.3 SDS-500 &1+ B

Er R E PRSI 2.2.4 MR fa R

B 2-3: SDS-100/250 &4 H

19(49)




2.2.4 SDS-500 #H#}8 tm %
& 2-2: ##HeA 4m & (SDS-500)

P, |
SHINI

V' plastics technologles

Jr 5 4 AR WA Vi & AR AR5

1 | M5x10+F#e YW61051000200 | 35 | ##two BL35500000420
2 | 2EFH M YW03000200000 | 36 | #wixz BL35500000320
3 | BHE BY10203801150 | 37 | E# BL35500001620
4 | BL35500001920 | 38 | #R%& BL35500001620
5 | B - 39 | #RE BL35500000220
6 | BR - 40 | HEEIEELB BL35500002620
7| AR BL35500000620 | 41 | ##%&2A -

8 | kAR BL35500000021 | 42 | EE# BL35500000521
9 | AR AR BL35500000720 | 43 | A YW50015000000
10 | F4nsgz YW69461600000 | 44 | M6 x 15 M5 A ¥4 YW61615000000
11 | M6x10 +5 %% YW60062000000 | 45 | 6mm %43 YW65006000000
12 | IE BL35500001121 | 46 | 6x18F43) YW66061800000
13 | I BL35500003520 | 47 | #L4a1] BL35500004120
14 | #RAH 1 BL35500004420 | 48 | A TFAM BL35500003720
15 | M6 x 15 9P f #5 4 YW60061500100 | 49 | ADC2 itk &* YR50181100000
16 | 6x12 F4e3) YW66061200000 | 50 | idiE&AR BL35500000321
17 | #HRH 2 BL35500000121 | 51 | A&k BL35500001120
18 | #HRH 3 BL35500000221 | 52 | #&_L##k BL35500001521
19 | A BL35500004020 | 53 | B4+ M YR40120300000
20 | BT HRA YE15000100000 | 54 | 4%t CL203-1(%) YW06203100200
21 | AL - 55 | BRAMLEIEAR A -

22 | B BL35500001421 | 56 | idyEAREZ M BL35500001320
23 | E# - 57 | £ TF##% BL35500001621
24 | #Hrk2B BL35500002420 | 58 | 4" #| & Bk YW03000400000
25 | #Atnm BL35500002520 | 59 | M8x 20 #h>x ¥k YW60082000200
26 | #HPEZA BL35500002320 | 60 | 4"&3hiest YW03000400200
27 | M8x20 NxA s YW61082000000 | 61 | Tats BL35500001020
28 | 8mm H 44 YW65008000100 | 62 | i#AHRAL BM30042000050
29 | 8x19 F43 YW66081900000 | 63 | B Lii: BL35500000621
30 | Htdpete BL35500002020 | 64 | # 1At -

31 | *th4 - 65 | AT LEMR -

32 | BEEEK - 66 | AT EMK BL35500002920
33 e YM50616400000 | 67 | AT L4z A -

34 | T BL35500001321 | 68 | s L4 B -

20(49)



P, |
SHINI

W icsfics technologies

Jr 5 2 AR o5 Vi 2 AR 5
69 | BxA BL35500000821 | 80 | 4Rk YE83305100200
70 | idiEAE BL35500000321 | 81 | &£## BL35500004220
71| KhA BL35500001021 | 82 | A -
72 | AR F YR40083500000 | 83 | 4x4% CL203-1(%) YW06203100400
73 | B RAL(2.2kW) BM30224000050 | 84 | wRZ%MK BL35500000920
74 | R BL35500000820 | 85 | £ L4l BL35500004120
75 | M10 x 45 $)>x A 3R YW61104500000 | 86 | @ik YR40070000000
76 | 10mm %44 YW65010000000 | 87 | wiRJF#£* YE10200300000
77 | 10x25-F4L3) YW66102500000 | 88 | £ T4l
78 | M10 BrArdR4: YW64101100000 | 89 | SHR-12U-E BY20012000650
79 | HAH YM60121200400

*E AR IR B AT RMIRRE , EED.
HEAETE R REAZA, LAALABEAT, ARRRRGEYHSES ZHh—K,

21(49)



